Model Set Paper - 10

1. STdg fq@9_ 71 919 981 WX :-

Increasing the temperature of an aqueous solution will cause:-

(A) AR gedl §

Decrease in molarity

(B) AR H SgIa™ gldl &

Increase in molarity

(C) At ThaRyd UedT &

Decrease in mole fraction

(D) % w/w Ul §
Decreases in % w/Av

2. Mole-fraction & ﬁ‘l'l'{ aﬁq-m ﬂﬁ %’?-

What is true for mole-fraction ?

(A) x <1

(B) -2 <x<?2

(C)0=sx<1

D)yx=0

3. 3_-I1}| I B Colligative properties %-

Which of the following is a Colligative property.

(A) GIdI
Viscosity

(B) UB-d-rd
Surface tension

(C) TR g RreT

Refractive index



(D) IRIERUIY g§

Osmotic pressure

4. 379 | B hydroxide 5Td H 3ifaay 82-

Which of the following hydroxide is insoluble in water?
(A) Be(OH)2
(B) Mg(OH)2
(C) Ca(OH)2
(D) Ba(OH)2

5. Ca(NOs)2 H Van't Hoff factor &1 HIF TV :-
Vant's Hoff factor of Ca (NO3).is :

<3
(D) 4

6. T B aifiifipar & g 3 FRRi® B g2 -

The unit of rate constant for a zero order reaction is :
(A) mol L's™

(B) L mol's™

(C) L’mol=3s™"

D) s™

7. 5T gR1 U IARP ufafshur & &3 &) gerd1 § 2-

By which of the following a catalyst increases the rate of reaction ?

(A) 3HTARP ol geTh
Decreasing internal energy



(B) TGEIARA Sulf geTdhr

Decreasing activation energy

(C) TIIATH Sl §ThR

Increasing activation energy

PESEREIEEE]

None of these

8. Hifae Srferemvor &t ¥ fraes gRT Sgar 82-

Which of the following increases the rate of physics adsorption ?

(A) dTUshH YCThX
Decrease in temperature

(B) dUshH deldhr
Increase in temperature

(C) ald YCThR
Decrease in pressure

(D) Td8 &THd gcTdh
Decrease in surface area

9. IR faggd &= # PIclgs! Hull i i Hgard :-

The movement of Colloidal Particles under electric field is known as :

(A) ISIH T T
Electrophoresis

(B) 37UIg

Dialysis

(C) a5y fule

Electro dialysis

(D) STH A BIs gl

None of these

10. T BT & WafP ATfpiie Aid o) arwifae Jid | fHramr ST g2-

What happens when a lyophilic solution is added to lyophobic solution ?



(A) TS e TRfard el Y8ar @

Lyophobic solution is not protected

(B) ATthTeTes |fet TRTed i &

Lyophilic solution is protected

(C) ImIfae T R Ardifthfere Iid &1 IRd §d1 §
Lyophilic solution is protected solution

(D) IRthfeTep TTd TR TN Aid BT URd §1dT ©

Film of lyophobic solution is formed over lyophilic solution.

1. IRA ST T $H @ :-

The main function of roasting is :

(A) ISR SYfeg DT G

To remove the volatile impurities

(B) SHTFHIHI]

Oxidation

(C) AdhU
Reduction

(D) YTgHeT oITT

To make slag

12. ST DIs Tob HTSHI TeTa g 22-

Which one is not a basic flux ?
(A) Cao

(B) CaCOs

(C) SiO:

(D) MgO

13. @i # IUFRYT SIS P Fea 3 :-

The impurities present in the mineral are called :



(A) UTgHe
Slag

(B) ST

Gangue

(C) Ugldh
Flux

(D) AIh
Ore

14. 31 3T d faf § oTg & YIfSHRor § YT B1 ST ST 8-

Van Arkel method of purification of metals involves converting the metal to:-

(A) 33sTee fRRR Aiftres

Non-volatile stable compound

(B) IsTehd FRRR aifiiews

Volatile stable compound

(C) ST HRR PfH

Volatile unstale compound

(D) STH Y D13 g

None of these

15. YT (Tear gas) HT IS G ¢ 1-

The chemical formula of tear gas is
(A) COCl2

(B) CO2

(©) Cl2

(D) CCI3NO:2

16. TFYT 3ehigd & 1Y NaOH B IUfRIFA A Tl ot rfuferar d g4 8-

Which is formed by the reaction of ethyl alcohol with NaOH in the presence of
chlorine ?



(A) CHsCl
(B) CoHsClI
(C) CCIsCHO
(D) CHCl3

17. CsH110H R fha yrufire Temigd ehid fed wird €.

How many primary alcohols are represented by CsH11OH.

(A) dRR
Four

(B) UG
Five

() =
Three

(D) &:
Six
18. Sfwau TB & Alhd grsgie WRHIY SUfRUT &:-

The maximum number of active hydrogen atom is present in-

(A) TRIfe® 3

Acetic acid

(B) BT

Methane

(C) fer_ia
Glycerol

(D) AYATA

Methanol
g.agaﬁ‘mrmmﬁﬂaﬁsﬁsaﬁmaﬁﬁmﬁmﬁhmmm

The reaction by which benzaldehyde can be converted into benzylalcohol.



(A) TorfeTt ifiyfdhar

Fitting reaction

(B) HISIRY 3if¥foman

Cannizzaro's reaction

(C) Foi Hffepan

Wurtz reaction

(D) UeSId g

Aldol condensation

20. HARTIH BiHe & ICH VT J YT il 8-

Which among the following is obtained by the dry distillation of calciumformate?

(A) THICH

Acetone

(B) BRUTSITIZS

Formaldehyde

(C) TR 3T

Acetic acid

(D) TicasigRs
Acetal dehyde

21. PIEATSA JU & € BT YHYHI0T Fhal B-

The hybridisation of carbon in carboxyl group is

(©) sp?
(D) dsp?
22. I B WR fgdiae viiA faas gr1 &t STl g2-

Which among the following gives secondary amine on reduction ?



(A) TTTSCISI

Nitrobenzene

OERERIERIES]

Methylcyanide

(C) TSSITAA

Nitroethane

(D) A RIS

Methyl isocyanide

23. 39 ¥ @i fAeifya fan s aear 21-

Glucose in bood can be determined with

(A) &RIT TS faea

Tollen’s reagent

(B) efa- 3ifHfshar & Try

alkaline iodine solution

(C) STHIF 51

Bromine water

(D) sffgae @1 faaaq

Benedict's solution

24. A9 & A P AH AP SYT 81 82-

Which among the following carbohydrate is not a disaccharide?

INGESE]

Lactose

(B) Tl TSl

Galactose

(C) Fehiol

Sucrose

(D) ATl

Maltose



25. ShATSCe BT § fhad Iy AfHHTT §RT U g &2-

Bakelite is obtained by the reaction of phenol with which among the following
compound ?

(A) TRIefETES

Acetaldehyde

(B) TRt

Acetal

(C) BIHcEESS

Formaldehyde
(D) FARIE=IH

Chlorobenzene

26. PWIAFEH & YINT gRT 9 11 YRANT Iga® Hadrdl 82-

Synthetic polymer formed by is use of caprolactane is called-

(A) ST

Terylene

(B) ST

Teflon

(C) AZA-6
Nylon-6

(D) FHanti=

Neoprene

27. Satof Weew ufshary s ufy wftea 22-

A narrow spectrum antibiotic is active against

(A) Gram positive dT Gram negative Gﬂa'l'ﬂ&ﬁ & ufd

gram positive or gram negative bacteria

(B) IH-3RTET Strarupat & ufd

gram negative bacteria only

(C) Uehel S{IRTN-SH T Teb I

single organism or one disease



(D) IH-TTEY IUT IH-3UTEt ST & ufdr

both gram positive and gram negative bacteria



